
We offer a full range of spare parts across 
the Carver Clamps product range. 

These parts are available worldwide 
through our distributor network.

SPARE PARTS

 07

Part No. Model No. Alternate Model No. Description

C301004 T186-6-1 T186-150-1 Standard Duty 150mm Jay

C301006 T186-12-1 T186-300-1 Standard Duty 300mm Jay

C301010 T186-20-1 T186-500-1 Standard Duty 500mm Jay

C301013 T186-30-1 T186-750-1 Standard Duty 750mm Jay

C301000 T186-2 – Standard Duty Moveable Jaw

C301102 T312-10-1 T321-250-1 Standard Duty Long Reach 250mm Jay

C301316 T321-24-1 T321-600-1 Standard Duty Long Reach 600mm Jay

C301100 T321-2 – Standard Duty Long Reach Moveable Jaw

C301047 T290-9-1 T290-225-1 Medium Duty 225mm Jay

C301050 T290-18-1 T290-450-1 Medium Duty 450mm Jay

C301053 T290-30-1 T290-750-1 Medium Duty 750mm Jay

C301056 T290-40-1 T290-1000-1 Medium Duty 1000mm Jay

C301043 T290-2 – Medium Duty Moveable Jaw

C301036 T285-9-1 T285-225-1 Medium Duty Long Reach 225mm Jay

C301038 T285-18-1 T285-450-1 Medium Duty Long Reach 450mm Jay

C301040 T285-30-1 T285-750-1 Medium Duty Long Reach 750mm Jay

C301042 T285-40-1 T285-1000-1 Medium Duty Long Reach 1000mm Jay

C301034 T285-2 – Medium Duty Long Reach Moveable Jaw

C301024 T257-6-1 T257-150-1 Heavy Duty150mm Jay

C301025 T257-12-1 T257-300-1 Heavy Duty 300mm Jay

C301026 T257-18-1 T257-450-1 Heavy Duty 450mm Jay

C301027 T257-24-1 T257-600-1 Heavy Duty 600mm Jay

C301028 T257-36-1 T257-900-1 Heavy Duty 900mm Jay

C301029 T257-54-1 T257-1350-1 Heavy Duty 1350mm Jay

C301021 T257-2 – Heavy Duty Moveable Jaw

C301011 T186-24-1 T186-600-1 Standard Duty 600mm Bar

C301014 T186-36-1 T186-900-1 Standard Duty 900mm Bar

C301016 T186-60-1 T186-1500-1 Standard Duty 1500mm Bar

C301018 T186-84-1 T186-2100-1 Standard Duty 2100mm Bar

C301019 T186-96-1 T186-2400-1 Standard Duty 2400mm Bar

C301000 T186-2 – Standard Duty Moveable Jaw

C301007 T186-13 – Box Connector

C301100 T321-2 – Standard Duty Long Reach Moveable Jaw

C301054 T290-36-1 T290-900-1 Medium Duty  900mm Bar

C301057 T290-48-1 T290-1200-1 Medium Duty 1200mm Bar

C301058 T290-60-1 T290-1500-1 Medium Duty 1500mm Bar

C301060 T290-84-1 T290-2100-1 Medium Duty 2100mm Bar

C301043 T290-2 T290-2 Medium Duty Moveable Jaw

C301048 T290 T290-13 Box Connector

 07SPARE PARTS



 07SPARE PARTS

Part No. Model No. Alternate Model No. Description

C301034 T285-2 – Medium Duty Long Reach Moveable Jaw

C301031 T257-84-1 T257-2100-1 Heavy Duty 2100mm Bar

C301033 T257-108-1 T257-2700-1 Heavy Duty 2700mm Bar

C301021 T257-2 – Heavy Duty Moveable Jaw

C301121 T400-4-1 T400-100-1 Tee Slot Standard Duty 100mm Base Unit

C301122 T400-6-1 T400-150-1 Tee Slot Standard Duty 150mm Base Unit

C301123 T400-8-1 T400-200-1 Tee Slot Standard Duty 200mm Base Unit

C301120 T400-2 – Tee Slot Standard Duty Head Unit

C301157 T600-2 – Tee Slot Standard Duty Long Reach Head Unit

C301131 T402-6-1 T402-150-1 Tee Slot Heavy Duty 150mm Base Unit

C301132 T402-12-1 T402-300-1 Tee Slot Heavy Duty 300mm Base Unit

C301133 T402-18-1 T402-450-1 Tee Slot Heavy Duty 450mm Base Unit

C301134 T402-24-1 T402-600-1 Tee Slot Heavy Duty 600mm Base Unit

C301135 T402-30-1 T402-750-1 Tee Slot Heavy Duty 750mm Base Unit

C301136 T402-36-1 T402-900-1 Tee Slot Heavy Duty 900mm Base Unit

C301137 T402-42-1 T402-1050-1 Tee Slot Heavy Duty 1050mm Base Unit

C301138 T402-48-1 T402-1200-1 Tee Slot Heavy Duty 1200mm Base Unit

C301139 T402-54-1 T402-1350-1 Tee Slot Heavy Duty 1350mm Base Unit

C301140 T402-60-1 T402-1500-1 Tee Slot Heavy Duty 1500mm Base Unit

C301130 T402-2 – Tee Slot Heavy Duty Head Unit

C301239 T602-6F T602-150F Heavy Duty 150mm Long Reach (Fabricated Head)

C301240 T602-12F T602-300F Heavy Duty 600mm Long Reach (Fabricated Head)

C301241 T602-2F – Tee Slot Heavy Duty Long Reach Head Unit (Fabricated)

C301158 T602-2 – Tee Slot Heavy Duty Long Reach Head Unit

C301160 T614-0 – Buttress Clamp Standard Duty

C301161 T614-1 – Buttress Clamp Medium Duty

C301162 T614-2 – Buttress Clamp Heavy Duty

C301150 T500 – Machine Vice Low Profile

C301151 T500-1 – Machine Vice Low Profile Moving Abutment

C301152 T500-2 – Machine Vice Low Profile Fixed Abutment

C301153 T550 – Machine Vice Heavy Duty

C301154 T550-1 – Machine Vice Heavy Duty Moving Abutment

C301155 T550-2 – Machine Vice Heavy Duty Fixed Abutment

C301242 – Multiclamp 15mm-300mm Multifunctional Clamp

C301001 T186-03 – Screw Assembly Standard Duty 

C301022 T257-03 – Screw Assembly Heavy Duty

C301044 T290-03 – Screw Assembly Medium Duty

Part No. Model No. Alternate Model No. Description

C603300 T805100 – Spring Rivet Standard Duty

C603302 T805102 – Spring Rivet Medium/Heavy Duty

C603330 T810100 – Spring Standard Duty

C603331 T810101 – Spring Medium Duty

C603332 T810300 – Spring Heavy Duty

C301171 T62024160 – T402/T602 M16 Tee Nut

C301300 T105400 – T440/T600 Fulcrum Pin

C301301 T109400 – T400/T600 Safety Catch Kit

C301303 T2134001 – T400/T600 Adjuster Screw

C301304 T104400 – T400/T600 Rack Box & Safety Catch Assembly

C301305 T105401 – T402/T602 Fulcrum Pin

C301306 T109402 – T402/T602 Safety Catch Kit

C301308 T2134011 – T402/T602 Adjuster Screw

C301309 T104401 – T402/T602 Rack Box & Safety Catch Assembly

C301310 T813400 – T402/T602 Column Bracket

C604253 T801402 – T402/T602 M16 x 50mm Socket Head Cap Screw

C604252 T801401 – T500/T400/T600 M12 Cap Head Screw

C604271 T802401 – T614-00 M12 Tee Bolt

C604272 T802402 – T614-01/T550 M16 Tee Bolt

C604273 T802403 – T614-01/T550 M20 Tee Bolt

C604274 T802404 – T614-02 M24 Tee Bolt

C604278 T803600 – T500 M12 Collar Nut

C604280 T803602 – T550 M20 Collar Nut

C301156 T550-03-2 – T550 Serrated Jaw

C301170 T61620120 – T500/T400/T600 M12 Tee Nut

C504185 T500-03-2 – T500 Jaw

C603305 T806600 – T500 Jaw Circlip

C604254 T801600 – T500 Button Head Jaw Screw

C301243 – – Bar

C301244 – – Standard Reach Head

C301245 – – Long Reach Head

C301000 – – Standard Duty Moveable Jaw

C301100 – – Standard Duty Long Reach Moveable Jaw

C301246 – – M10 x 1.5 x 45 Socket head Screw

C301247 – – M10 Helicoil

C301248 – – Split Spring Tension Pin

C301249 – – Allen Key




